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MANUFACTURING PROCESSES - 2
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Examine the shaft system below (dimensions in mm) and answer the following questions. 
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1. Describe below each element of the feature control frame. 			[3 Points]
The shaft must lie perpendicular within a tolerance zone of 0.007 mm diameter (ϕ ) at the maximum material condition (MMC), with respect to datum axis A.					
2. What type of geometric tolerance is involved here (form, orientation, or location)? [1 Point]											ANSWER:   (
orientation
)
3. What is the basic size? [2 Points]						ANSWER: 
4. What is the feature size at MMC? [2 Points]			ANSWER: 
At MMC: 
5. What is the feature size at VC? [2 Points]				ANSWER: 
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